-
iy
<
e
N
o
(=]
(3]

H2fcy 4t

KO

-358

626

268

O
=

F7HR|4

|

KO

268

268

O
]

F7hxI%

KO

-645

645

K-

<r
K+

|

KO

29,958

29,958

K-

<r
K-

30,226

30,226

4

Hejoyl ot

Hio
<0

b

2. op%

20 7
15

10

8.00%

5.33%

2.67%

0.00%

-2.67%

-5.33%

-8%

-10 T

-15 +

-20 +
25

~
ofl
pr

21

3. A|lL}E2| 280

~
ofl
et

2,246

4. Z| &4 2N (VaR : 99%, 10Y)



-
iy
<
e
N
o
(=]
(3]

H2fcy 4t

KO

-8,438

8,438

O
]

F7hxI%

KO

K-

<r
K+

|

KO

10,633

10,633

K-

<r
K-

2,195

8,438

10,633

4

Hejoyl ot

Hio
<0

b

2. op%

600

400

200

8.00%

5.33%

267%

0.00%

-2.67%

-5.33%

2

-200

-400

-600

-800

~
ofl
prd

635

3. A|lL}E2| 280

~
ofl
et

1,277

4. Z| &4 2N (VaR : 99%, 10Y)



-
iy
<
e
N
o
(=]
(3]

H2fcy 4t

KO

2,396

127

2,523

K-

<r
K-

KO

O
=

|

KO

-75

75

O
]

/I5#

2,321

202

2,523

4

Hejoyl ot

Hio
<0

b

2. op%

8.00%

5.33%

2.67%

0.00%

-2.67%

-5.33%

32

~
ofl
pr

3. A|lL}E2| 280

~
ofl
et

170

4. Z| &4 2N (VaR : 99%, 10Y)



